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QUESTION 1

In the integration between Sterling Order Management V9.2 and WebSphere Commerce, which of the following actions
will a customer service representative be UNABLE to take when entering orders through the Sterling application? 

A. Make manual adjustments in an order. 

B. Enter orders for a customer who has no customer ID. 

C. Pre-populate customer information from WebSphere Commerce. 

D. Tell customers about promotions and discounts applied to the order. 

Correct Answer: C 

 

QUESTION 2

Which of the following is a concept related to provided services and delivery services? 

A. Resource pool 

B. Naming service 

C. Composite service 

D. Resource hierarchy 

Correct Answer: A 

 

QUESTION 3

A business (B1) has its own inventory for items at its internal distribution centers (DC). The business has also on
boarded its manufacturers (M1 and M2) on Sterling Order Management. M1 and M2 have their own e-commerce
portals, and they have inventory at their own DC. The requirements above have been modeled as follows: ?B1 is
enterprise / seller - with inventory organization as B1 ?M1 is enterprise / seller - with inventory organization as M1 ?M2
is enterprise / seller - with inventory organization as M2 ?M1 and M2 are consumable inventory organizations for B1
Which of the following statements is INCORRECT? 

A. M1 can view assigned demands for M1 DC. 

B. M1 can view unassigned demands for M1 and B1 enterprise orders. 

C. M2 can view unassigned demands for M2 enterprise orders. 

D. B1 can view assigned demands for B1 DC, M1 DC, and M2 DC. 

Correct Answer: B 

 

QUESTION 4
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A business has a warehouse "N1" that has the following characteristics and schedules: 

Refer to the exhibit. When searching for Qty 22 to be shipped with Carrier Service "2 DAY", what values will
findInventory/promising layer return for product ship date? 

Note: "ship date" is the date the product can be shipped as opposed to the date it is available. In some APIs, this is
returned as ShipDate, and in others as FirstDate/LastDate. For the purpose of this question, we will refer to it as "ship
date". 

A. Qty 10 can ship 10/4 at 16:00 and Qty 12 can ship 10/8 at 16:00 

B. Qty 10 can ship today at 16:00 and Qty 12 can ship 10/5 at 16:00B.Qty 10 can ship today at 

16:00 and Qty 12 can ship 10/5 at 16:00 

C. Qty 10 can ship 10/4 at 16:00 and Qty 12 can ship 10/5 at 13:00C.Qty 10 can ship 10/4 at 

16:00 and Qty 12 can ship 10/5 at 13:00 

D. Qty 10 can ship today at 16:00 and Qty 12 can ship 10/8 at 13:00D.Qty 10 can ship today at 

16:00 and Qty 12 can ship 10/8 at 13:00 

Correct Answer: A 
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QUESTION 5

Which of the following is NOT a valid type of pricing rule or coupon rule? 

A. Order total 

B. Bundle total 

C. Item quantity 

D. Shipping surcharge 

Correct Answer: B 

Latest C8010-241 Dumps C8010-241 PDF Dumps C8010-241 Practice Test

Powered by TCPDF (www.tcpdf.org)

Latest C8010-241 Dumps | C8010-241 PDF Dumps | C8010-241 Practice Test                                4 / 4

https://www.geekcert.com/c8010-241.html
https://www.geekcert.com/c8010-241.html
https://www.geekcert.com/c8010-241.html
http://www.tcpdf.org
https://www.geekcert.com/c8010-241.html
https://www.geekcert.com/c8010-241.html
https://www.geekcert.com/c8010-241.html

